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Solve the initial value problem: sin(x— y)+cos(x—y)—cos(x—3)y'=0; »(0)=7x/6. (Hint:
multiply the equation by an integrating facto to make the equation exact) (AEE1047)

Find the general solution of the differential equation: y"—y =2sin’(x). (DO NOT use the
Laplace transform method) (RE 10 43)

Solve the initial value problem: x’y"-6y=8x* y(1)=1, y'(1)=0. (KRE1043)

Use the Laplace transform to solve the equation: f(f) = cos(f) +e™* 'C f(@)e*da.

(AR 10 73)
~28

Find the inverse Laplace transform of F(s) = T(e__??’ (KEEH 1043)
s (s +

Let f(t)=1, 0<¢<x, find the Fourier cosine series and the Fourier sine series of f(f)on

interval [0, 7]. (RE1547)
§ -4 3 %, 0

Let A=| 1 5 -1|, X=|x,|, and B=|-5]: (REE 15 43)
26 1 % -4

(1) find the determinant ({Al) of the matrix A, and find the solution of AX =B by Cramer’s
rule. (R ARE A7)

(2) Find the inverse matrix (A™') of the matrix A, and find the solution of 4X =B by
X=A4"B. (KNAT%)

Let A:H ﬂ Xz[j],and X(t=0)=X(O)=[§}: (RFE 205

(1) find the eigenvalues and eigenvectors of 4. (F/# 5 %) _

(2) find a fundamental matrix (Q(t)) for the systems of linear differential equations,
X'=AX. (RAES %)

(3) find the general solution of the system X'=AX. (&/#5 %)

(4) solve the initial value problem of X'=4X with X (0) . (RAERS )
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1. kL34 — 5385 (USCS)R 4T3 SC 82 ML ? Bl ef 313088 — & Z ¥ 511842 - [8 4]

2. T SPTH CPT? —% 2 B &)~ #4E >~ AWEHNFKATEE 78 7]

3. WwBAMA () S UREFHRZEE o4 (i) BB EAFE D f14858
[9 4]

1.5m *F
- % T
6m Sand S A N g...

¢'=0
¢’ =30°

________ ¥ =16 kN/m? ]

................ _

o B A B B
=1

4., 3H43EEF 5 £ 398 (i) braced cut - (ii ) apparent earth pressure distribution- % 4 B »
FWA (i) ARTRMAITFAATREB 2R BN K - [10 4]

5. (i) Fregaess % (pile group efficiency) ? (ii) @B C w2 84 » BT EEMRA
F Qu- [15 4]
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6. wEA DA~ REA2M ZEAAURM FHEASET 18 BT AMMANBETO0SmE -

B AL —HoBuiEe £ 03mZEPRTE » W Terzaghi BFAMAE A AKX HE
stk A Koo 2 4% R 47 # (total ultimate load) * Que=? (/m) [25 4]

(77 B A=32% Ng=26, N,=26 : B ¢'=34°, N;=34, N,=34)

:Qult
0.3m
‘ g £
un
! o“ 3
2m } ‘ ﬁf[@‘%{_—‘- Tsot =2.1t/m
! Bl ¢-0 ¢=37
L am Bt 1: fya=2.2t/m’
c=0 ¢'=34

E D

7. B EfF:—EAXNRBRER LB RBELEMES 24kN/m’ > 4535 9m > 4BTAE 0.5m »
MR S.0m o 452 4hik Z T KA A 6m R > B2 % R E S 16KN/m’ » 14 2 fofo

HELES 19KN/M® > 20 L2 BIR A% A 34° « 34894 K (Rankine) £ /& /7 323 4631 sbd%
+ & = fA4g(overturning) & 2 A A 77 [25 4]
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° c=0
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© .. e ﬁm'lgm}ms

c=0
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I HRARBHEGEERER - o IR =P R - (15%)

2. HREABETREMMARRE  MERIILIEE TG TERRRSH®RE
BEM? - (15%)

3. W ANRERTEE  BRE TVEEPAETRTEINAER? 1
FHREAEZ S ? PSR REERR 50% - (20%)

HE A “EB
A $10,000 $15,000
¥EE $1,000 $2,000
FRIERAR (32,000 $1,000
= 10 10

AR TR EHEERCEE - (15%)

SHECEMEECIRE > AL A - B T RIEIFG R B - S REEEhe
JIREREY IS AL T A - FEMSSTER A ~ B AR Z4CECINGR - JsiRitaRttss
FoRFfEI(ED)  (10%)

T

A |32 137

35 |28

41

44 | 35

31

34

B |35 |31

29 |25

34

40 |27

32

31

fEa =005 K4ET » G A - B WEIIM T ERGHEESE - " TSR
2 BIARE |

TRRIEEEHAT © (25%)
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FHEA 10% R T BIH THARA?

X > ELAREREA?

#5 E(ESRIEHESS 30 K58
# HAFETREERE 40%  HEETHESR?
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Do | MEEE | a m b Te ot Vit
A - 1 3 4
B A 5 7 10
C A 3 5 7
D A 11 11 12
E B-C 8 9 13
F C-D 8 8 8
G E-H 3 7 8
H D-F 2 3 5
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TABLE 1 CUMULATIVE PROBABILITIES FOR THE STANDARD NORMAL
DISTRIBUTION

Cupmitlative

probability Eatrics in the wble

give the area nader the
curve t the fefr of the

2 valug. For example, fo
= 1 25 the cumulitne
prohability is 8934
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8 BU3 0 R43E BI6H H485 K308 8331 B854 RSN K599 8621

i k12X BE63  RARE RI08 BTV RWD 87 YUY RN 83U
3 BE4 ERAY RERK 007 K0S 344 BURY BB BRUT ails
3 Mpi2 0 atMe B06A  BOR2 BO9Y 9115 131 BtdT 8162 9inl

192 w7 G322 S0R3n 9250 L2565 Pl Y202 W3y i
SN2 Bl M3AT 0 W0 938 994 g B4R X0 Jddd
B3 63 84T Did Q4Q5 505 9519 g524 G825 2345
938 L0S64 9373 uaB2 Ui GSOY o418, Ynle Q625 gait
Ol Lpdy DGRG 9661 0073 B6TN uase Doyl enie LT0A
YTy U6 97 9338 9Tl glsg 9Tsh 9Tl are?
G712 QI 9781 I8k Y73 y7uy QRN QRIK 482 QgL ?
G821 982n 9830 9%34 UB18 9R4D 946 985D YRR ORST
DRAL 0864 OBSS  URTI 9875 USTR U801 D8R4 B8RT inun
GEOR DEGG YROR SN0 U0 uugs 9O0v 90t ST R
93718 HG21) 422 W5 W07 0924 LAY O032 0 9934 Y3
FOIE U0 9941 YUl L 2 REEE 9949 a5 YO
G52 G933 G9SH AT wasg QU8 BIY! 4902 99673 G
O3 U0 YORT  NOEN  udaG 8970 997 BB Ty w7
SR WIS edTe BT euIT 9Tk 997y wyiy o RS BuRs
SR 4982 PIRZ URY Y84 0984 DURs wuss GIsh prisict
Yarh 987 YuR? GOk QORR LR YUss  UYRY QUK Hao0

e

-3

TS em

[ S R I B Al

'.n!«,'!J\\,;?j!.;g.s‘.)gqg.;]go—;—_—..._,_......._»._......
e

-
=

Jr——

S e s W s en S p bk A b 6 e s




5 4 me 4 m

B IZEMBE KXKE R BER
101 SERELABELEREEIAERAE e sars

TABLE 2 DiS RIBUTION

Aresor
probability Bntries in the sable grve rvalues tor an
aren or probability in e upper il of
the ¢ Jistribiion. For example, with
10 degreas of freedom and a 015 urea
in the upper tail, ;= 1812

0 ¢
) Agen i Upper Tadl

Degrees —
uf Freedom Ny 03 025 ] R
[ 31078 6314 NS R 63 657

2 | 8806 2920 4.303 6.903 Y425

1 1.63% 2353 3182 4,541 & 841

4 1,533 2182 2776 V747 1604

5 1476 2.04% 2571 3.365 A03

ts | 440 1,943 2.a47 REEX! 307

7 1413 J.RuA 2 65 2 99% 3405

& 1307 1E6D 2.6 2896 4 353
) 1183 181 2262 2821 1250
il 1372 P RE2 2208 2 H6d 3oy
14 (RIS {Ft 2.201 PARE 3104
12 [IRAT [.7K2 2179 2.081 3088
11 1,350 LI 2,160 2.650 0%
14 1.345 1761 2,145 2.624 2977
15 P34 1783 24 2.602 2947
{6 1337 1.746 2020 2,883 2021
17 P 333 1.740 2160 2,567 2898
I8 [IRX 173 2,101 2,852 288
19 1128 17 20yt 2539 2.561
2 1328 1.725 286 2528 2 %45
2 1323 1,721 2080 2,518 2831
22 1321 1717 2074 2,504 2R19
23 1Ay 171 2009 2500 K07
24 KT L7 2064 2492 2797
o T |FO 2.060 1483 2787
2 | 418 1700 2056 2474 2770
” Vi §.70R 2.082 2471 297
25 1313 T 2048 2467 2763
3] 31y 1.699 REIEN 2462 27150
36 1.0 1 ay7 2042 2487 2750
A1 1,303 1684 200 2423 27004
Hl 1,206 ] 671 2.000 2.390 2.600
120 1,289 LO3R 1980 2,354 2607
o FRY) { 45 I Uty 2.326 2576

“ v - Vi et e w v o

Thiis sabde 1 repraniedd by pe-mummu 1 Onnfondd L?;mcs\m yess i bedpalfof ﬂw Bnumuxka Fomecs from Iuhk‘ 12 Percent
apte Puints of e 7 Dhsinbuiion, by B 5 Pearson and H, O Hitluy, Biegretoka Tubdes for Staiissickans. Vol {, Wd et 1966,
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— LEME (B4 5 0 #£20%)
Quantative management perspective (4 4-)
Managerial ethics (4 %)

Alterative dispute resolution (4 %)
Bounded rationality (4 4°)

Motivation (4 %)

e

= &R (#£80%)

. BEAMEIITEETEANME  BIEALBEHAEMERRETEHAE
(Skills) o (10 %)

2. MPEOELLETE P T des 2 AH A (Risk Category) R W % - (10
)

3. 4k & A project is a temporary endeavor undertaken to create a unique
product, service, or result. X453t 37 88 Project & £ B4 2k « (10 )

4. MRAAN BT RBEOBHABERR > REBFRRGEHI - 20 %)

S. WHATH T HMMAE KL FERIM A %o LG L L& B A NTHEN R (15
%)

6. i 4 4R B 4848 (leadership grid) » AR SL 3L BA 4838 A 6947 B EIE © (15 )
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KB 2EzHMSa b cthiR KA (15 5)
‘ a
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s 18 £t 5 PEk 00 ft _I
B 2
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ZHEBIZBBEaBZAE  FHEREEEN > BERATAEEYS EIEHA
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60% 60%
| 30t |1ofe]  20ft h1ofe|  30ft |
< gl DB o g Bt 1
a b * ¢ d
!
” 2EI 2EI 2EI W
EI EI 20 ft
Y
D077 777
€ 7
B 5

X R 6 ZRIRIEE M 6 25K BB E F MEA(K =T ]
BIHRAD) - (20 4)
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101 BFEEEITBETEREREEESGE B8 s

ABEAE O B 1A Sy 822100 B3 150 $44M:205; 55
REGCHM  HAM25 5 #3100 5 - FHRAFMEELERELETLLESL L #ER T3
S EMALBHARAR HaFFELEZIMIK -

I REAVNMN IR BRB(TEAH) - SRECKER)GRE » BREHEERE - #
PR RRMEIRE < [5 7]

2 RRAEET I RRAAARERRZARAEY - RARRBERTRRATRZ £
£ - [10 5]

3. MIH LB MK 4T8cem’ s LR E 884 g MK IR E S0 RFFEARE T
Z 8B 418 e’ MEBEAABFEE P LAMA 616 cm’ - HR LKL EH 267
REERH L2 4K > tafoE ~ LM th(void ratio) R e F A - [15 o]

4 wB ApF BRLBEGALEG(atum)  ELEROASRLIERDBE 4%
Ehkf@mpoNAAREEE 20m R Sme BB oEfh B EREL
18.87kN/m® » i K44 % k % 10 m/minute -

(1) £ A 358 B 328 A1K3E ~ 8K (total head) R W 552 F &4 /K 71 4 [ (hydraulic
gradient) ~ R E AR FG? [13 4]

(2) ROAB 3 B2 FHBEN IR ABRRFEAAREN L TR =B HE LAZiEHME?
[7 %]

datum
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5. AR BB EHL T HEAERT ImEAAD L I(MEE 2nFEARL
PmBERZTFTXEH L b T a2 FRAA RN E > B ERKEMHKEZMT 10m
AR CHBIRWBREZ 18m EARAHAEESCHPSFERE LTI M LB AN 2R
B B RTF I B EZy=20 KN/mM® ; $5 £ 2y,=18 2 kKN/m’ » 26 £ 2 4k & w=0.4 > £
+ 2 b E Gs=2.71 » $ L Z B A C=0.5 m*hr - 3+ E ¢

(D #HAREHLE P RZALENHEE? [ 4]
(2) stz BuE s Ce=? [12 4]
G) Lz B AGEK=?[5 4]

6. 4t#t—4afofh t EHEAT T =4 CU 035 » BB R o0 F R H (842 KNmD) -

RERbh | e | Red2 | BURBEZ L
BEY WEmsrY mARY

A 150 192 80
B 300 341 154
C 450 504 222

i ”EF cell pressure °
2 gp principal stress difference or deviator stress
A
’Ep pore water pressure °

HEALFHA
(DREB LA =B 2 A RE N R BRBROEL(ENE —RE L) - [10 4]
Q) BREEUB LT AHBELH CE=[15 2]
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